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A knot diagranﬂ C3 Cg C10 Co Cg Cs Cg

Ideals for irreducible component#ﬂ)f Xpar
I = (Tu"® + 19u + - 4+ 4b— 9, 3u™® + 9u'? + - + 20 — 1,

M 4 4ut® — 201 — 210t 4 200 + 5300 — 13u® — 770" + 38u® + 57w’ — 37wt — 9ud + 120 4 u — 1)
=+ +20+1, a, u—1)

* 2 irreducible components of dim¢ = 0, with total 17 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
I* = (Tu'3+19u'?+. . .+4b—9, 3u®+9u'?+-.-+2a—1, v'*+4u'3+- . -+u—1)

(i) Arc colorings
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(ii) Obstruction class = —1
(iii) Cusp Shapes = —2u'3 — 17¢/!2 4 4411 + 9—23u10 — %ug - 2471118 +38u” + 172u8 —
%1? — 113u* + 1020 — %uQ — %1“ — 1—23



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C8 ut 2B —du—1
C2,C10 ut+6uP o+ 8u+1
c3, Cg ut —4uB -1
Ca u' 200" 4+ -+ 25u 41
c5, Co ut+u o+ 20u+8
7 ut—2u 4 —2u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C8 gt -6yt 4+ —8y+1
C2,C10 y 6y e -8y + 1
€3, Cg gt =20y 4. — 25y + 1
4 Y 48y ¢ 153y + 1
Cs, Co Yyt =21y o — 144y + 64
7 y" =30yt 4+ —8y+1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.879051 + 0.7201191
a= 0.739858 — 0.8635361
0.731209 + 1.0484701

—1.98336 — 4.249631

—13.14655 + 5.185331

uw= 0.879051 — 0.7201191
a= 0.739858 + 0.8635361
0.731209 — 1.0484701

—1.98336 + 4.249631

—13.14655 — 5.185331

uw = 1.305050 + 0.2501831
a= 0.247411 —0.7919401
0.744850 — 0.6968081

—3.10381 4 1.411911

—13.8732 — 3.81511

u= 1305050 — 0.2501831
a= 0.247411 4+ 0.7919401
0.744850 + 0.6968081

—3.10381 — 1.4119171

—13.8732 + 3.81511

u= 0.517778 4+ 0.4265721
a = —1.035790 + 0.6634511
b= 0.134884 — 0.4809791

—0.660151 — 0.0906101

—10.51478 4 0.231221

uw= 0.517778 — 0.4265721
a = —1.035790 — 0.6634511
b= 0.134884 + 0.4809791

—0.660151 4 0.0906101

—10.51478 — 0.231221

u = —0.412302 + 0.0848211
a = —0.201506 + 1.3982901
b= 0.267015 + 1.2226401

2.37413 — 2.695401

—3.68064 + 2.888791

u = —0.412302 — 0.0848211

a = —0.201506 — 1.3982901 2.37413 4 2.695401 —3.68064 — 2.888791
b= 0.267015 — 1.2226401
= 0.303096
a = —1.73095 —0.780136 —12.5300
b= 0.243596

u = —1.72923 + 0.151347
a = —1.078920 + 0.0934111
b= —0.629782 + 0.9200411

—9.20540 - 2.458471

—11.50081 — 0.429621




Solutions to I7*

V=1(vol + y=1C)

Cusp shape

= —1.72923 — 0.151341
= —1.078920 — 0.0934111
= —0.629782 — 0.9200411

—9.20540 — 2.458471

—11.50081 4+ 0.429621

= —1.77359 4 0.251731

= 0.82970 — 1.554731

—11.19680 + 8.392921

—13.3988 — 4.58851

= —1.77359 — 0.251731
= 1.114820 + 0.1480821

U

a

b

U

a= 1.114820 — 0.1480821
b

U

a

b= 0.82970 + 1.554731

—11.19680 — 8.392921

—13.3988 4 4.58851

u = —1.87660
1.15919 —15.8216 —16.2410
b= 1.60066




IL. 12 = (b3 4+ b2 +2b+1,a, u—1
2

(i) Arc colorings
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(ii) Obstruction class =1

(iii) Cusp Shapes = —b? — 3b — 15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u? —u? +1
€2 ud 4+ u? +2u+1
€3 (u—1)3
3

Cy4,Cg (u + 1)

Cs, C9 u3

€7, €10 ud —u? 4 2u—1
Cs wu?—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C8 v -yt 2y —1
3 2
€2, €7, C10 Yy +3y +2y—1
3
€3, C4, Co (y—1)
Cs, C9 y3




(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y=1C)

Cusp shape

u = 1.00000

a= 0

b = —0.215080 + 1.3071401

1.37919 + 2.828121

—12.69240 — 3.359141

w = 1.00000
a= 0

b = —0.215080 — 1.3071401

1.37919 — 2.828121

—12.69240 + 3.359141

w = 1.00000
a= 0 —2.75839 —13.6150
b= —0.569840
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
“ (u® —u? + 1) (M +2u"® + - —du—1)
C2 (u +u? +2u+ D) (u* +6u'® +-- +8u+1)
€3 (u—1)) (" —4u™® +--- —u—1)
€4 ((u+1)%)(u™* 4 20u!® + - - - + 250 + 1)
cs, Cy wd(utt 4wl 4 - 20u + 8)
6 (w41 —4u'® - —u—1)
7 (u® —u? +2u— D) (u™ —2u" +-- = 2u—1)
s (u® +u? — 1) (u* +2u'® + - —du—1)
10 (u® —u? +2u — 1) (u™ +6u'® + -+ 8u+ 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, cs (2 =2+ 2y — D) =6y + - =8y +1)
¢s,C10 (P 432 +2y — Dy + 6y 4+ —8y+1)
€3, Co ((y = 1)*)(y"* = 209" + - — 25y + 1)

€4 ((y = 1)°)(y*" — 48y" +--- — 153y + 1)
cs, Co vyt — 21y" - — 144y + 64)
cr (v* +3y° +2y — )y =30y +--- =8y + 1)
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